

## SOME INEQUALITIES FOR SPECIAL FUNCTIONS

*Jovan D. Kečkić and Miomir S. Stanković*

(Received April 27, 1972)

### 1. Inequality

$$(1) \quad \frac{(x-1)^x (y-1)^y}{\left(\frac{x+y}{2}-1\right)^{x+y}} < \frac{\Gamma(x)\Gamma(y)}{\left(\Gamma\left(\frac{x+y}{2}\right)\right)^2} \quad (x > 1, y > 1)$$

was posed as problem in [1].

However, in [2], among other things, the following inequalities

$$(2) \quad \frac{x^x y^y}{\left(\frac{x+y}{2}\right)^{x+y}} < \frac{\Gamma(x)\Gamma(y)}{\left(\Gamma\left(\frac{x+y}{2}\right)\right)^2} < \frac{(x-1)^{x-1} (y-1)^{y-1}}{\left(\frac{x+y}{2}-1\right)^{x+y-2}} \quad (x > 1, y > 1)$$

were proved.

We shall show that the left inequality of (2) is sharper than (1).

Consider the function  $f$ , defined by

$$f(x) = \left(1 - \frac{1}{x}\right)^x \quad (x > 1).$$

We have

$$(\log f(x))'' = -\frac{1}{x(x-1)^2} < 0 \quad (x > 1).$$

The function  $f$  is therefore logarithmically concave and so

$$f(x)f(y) < \left(f\left(\frac{x+y}{2}\right)\right)^2,$$

i.e.

$$\left(1 - \frac{1}{x}\right)^x \left(1 - \frac{1}{y}\right)^y < \left(1 - \frac{1}{\frac{x+y}{2}}\right)^{x+y},$$

which implies

$$\left(\frac{x-1}{x}\right)^x \left(\frac{y-1}{y}\right)^y < \left(\frac{\frac{x+y}{2}-1}{\frac{x+y}{2}}\right)^{x+y},$$

i.e.

$$\frac{(x-1)^x (y-1)^y}{\left(\frac{x+y}{2}-1\right)^{x+y}} < \frac{x^x y^y}{\left(\frac{x+y}{2}\right)^{x+y}}.$$

The proof is complete.

Remark. An extension of inequality (2) to  $n$  variables was also given in [2]. In fact it was proved that

$$\frac{\prod_{i=1}^n (x_i - 1)^{p_i x_i - 1}}{\left(\frac{\sum_{i=1}^n p_i x_i - \sum_{i=1}^n p_i}{\sum_{i=1}^n p_i}\right)^{\sum_{i=1}^n p_i x_i - \sum_{i=1}^n p_i}} > \frac{\prod_{i=1}^n \Gamma(x_i)^{p_i}}{\Gamma\left(\frac{\sum_{i=1}^n p_i x_i}{\sum_{i=1}^n p_i}\right)^{\sum_{i=1}^n p_i}} > \frac{\prod_{i=1}^n x_i^{p_i x_i}}{\left(\frac{\sum_{i=1}^n p_i x_i}{\sum_{i=1}^n p_i}\right)^{\sum_{i=1}^n p_i x_i}}$$

which for  $n=2, p_1=p_2=1$  reduces to (2).

There are other inequalities concerning the ratio  $\frac{\Gamma(x)\Gamma(y)}{\left(\Gamma\left(\frac{x+y}{2}\right)\right)^2}$ . For example, in [3] it was proved that

$$(3) \quad \frac{(y-x)^2 + 4y}{4y} < \frac{\Gamma(x)\Gamma(y)}{\left(\Gamma\left(\frac{x+y}{2}\right)\right)^2},$$

while in [4] we find

$$(4) \quad 1 + \frac{(y-x)^2(y-2)}{(x+y-2)^2} < \frac{\Gamma(x)\Gamma(y)}{\left(\Gamma\left(\frac{x+y}{2}\right)\right)^2}.$$

Inequalities (3) and (4) are also cited in monograph [5]. However, these inequalities cannot be compared with (1) since, for  $x=3, y=2$ , we have

$$\frac{(y-x)^2 + 4y}{4y} > \frac{(x-1)^x (y-1)^y}{\left(\frac{x+y}{2}-1\right)^{x+y}} > 1 + \frac{(y-x)^2(y-2)}{(x+y-2)^2},$$

while for  $x=2, y=4$  we get

$$1 + \frac{(y-x)^2(y-2)}{(x+y-2)^2} > \frac{(x-1)^x (y-1)^y}{\left(\frac{x+y}{2}-1\right)^{x+y}} > \frac{(y-x)^2 + 4y}{4y}.$$

2. Some reasonably interesting inequalities involving the gamma function, or other special functions can be obtained by an application of the following elementary result.

If  $f$  is an integrable function and  $f(t_1, \dots, t_n) \leq M$  for  $(t_1, \dots, t_n) \in V \subset R^n$ , then

$$\int_V \dots \int_V f(t_1, \dots, t_n) dt_1 \dots dt_n \leq M \mu(V),$$

where  $\mu(V)$  is the volume of  $V$ .

We shall give three examples to illustrate this application:

Example 1. Start with the formula

$$\int_{\substack{t_i \geq 0 \\ t_1 + \dots + t_n \leq 1}} \dots \int t_1^{x_1-1} \dots t_n^{x_n-1} dt_1 \dots dt_n = \frac{\Gamma(x_1) \dots \Gamma(x_n)}{\Gamma(x_1 + \dots + x_n + 1)},$$

which holds for  $x_i > 0$  ( $i = 1, \dots, n$ ).

Since

$$\max_{\substack{t_i \geq 0 \\ t_1 + \dots + t_n \leq 1}} (t_1^{x_1-1} \dots t_n^{x_n-1}) = \frac{(x_1-1)^{x_1-1} \dots (x_n-1)^{x_n-1}}{(x_1 + \dots + x_n - n)^{x_1 + \dots + x_n - 1}}$$

and

$$\int_{\substack{t_i \geq 0 \\ t_1 + \dots + t_n \leq 1}} \dots \int dt_1 \dots dt_n = \frac{1}{n!},$$

we obtain the inequality

$$\frac{\Gamma(x_1) \dots \Gamma(x_n)}{\Gamma(x_1 + \dots + x_n + 1)} \leq \frac{(x_1-1)^{x_1-1} \dots (x_n-1)^{x_n-1}}{n! (x_1 + \dots + x_n - n)^{x_1 + \dots + x_n - 1}}.$$

Example 2. The following formula

$$\int_V \dots \int e^{a_1 t_1 + \dots + a_n t_n} dt_1 \dots dt_n = \pi^{n/2} \sum_{k=0}^{\infty} \frac{(a_1^2 + \dots + a_n^2)^k}{2^{2k} k! \Gamma\left(1 + \frac{n}{2} + k\right)}$$

holds for  $a_i > 0$  ( $i = 1, \dots, n$ ), where  $V = \{(t_1, \dots, t_n) \mid t_i \geq 0 \text{ and } t_1^2 + \dots + t_n^2 \leq 1\}$ .

However, we have

$$\mu(V) = \frac{\pi^{n/2}}{\Gamma\left(\frac{n}{2} + 1\right)},$$

and

$$\max_{(t_1, \dots, t_n) \in V} e^{a_1 t_1 + \dots + a_n t_n} = \exp \sqrt{a_1^2 + \dots + a_n^2},$$

and so

$$\sum_{k=0}^{\infty} \frac{(a_1^2 + \dots + a_n^2)^k}{2^{2k} k! \Gamma\left(1 + k + \frac{n}{2}\right)} \leq \pi^{n/2} \frac{\exp \sqrt{a_1^2 + \dots + a_n^2}}{\Gamma\left(\frac{n}{2} + 1\right)}.$$

This inequality for  $n = 8m$  and  $r - \sqrt{a_1^2 + \dots + a_n^2}$  becomes

$$\sum_{k=0}^{\infty} \frac{r^{2k}}{2^{2k} k! \Gamma(1+k+4m)} \leq \frac{e^r \pi^{4m}}{\Gamma(4m+1)},$$

which implies

$$J_{4m}(ir) \leq \frac{\pi^{4m} e^r}{2^{4m} \Gamma(4m+1)},$$

where  $J_\nu$  is Bessel's function of the first order.

Example 3. Let  $p, q, r, s > 0$ . Then

$$\begin{aligned} B(p+r, q+s) &= \int_0^1 x^{p+r-1} (1-x)^{q+s-1} dx \leq \max_{0 \leq x \leq 1} x^r (1-x)^s \int_0^1 x^{p-1} (1-x)^{s-1} dx \\ &= (\max_{0 \leq x \leq 1} x^r (1-x)^s) B(p, q), \end{aligned}$$

where  $B$  is the beta function.

Therefore, since

$$\max_{0 \leq x \leq 1} x^r (1-x)^s = \left(\frac{r}{r+s}\right)^r \left(\frac{s}{r+s}\right)^s,$$

we obtain

$$B(p+r, q+s) \leq \left(\frac{r}{r+s}\right)^r \left(\frac{s}{r+s}\right)^s B(p, q),$$

or, substituting  $p = P - r$ ,  $q = Q - s$  ( $P > r$ ,  $Q > s$ ),

$$(5) \quad B(P, Q) \leq \left(\frac{r}{r+s}\right)^r \left(\frac{s}{r+s}\right)^s B(P+r, Q+s).$$

Inequality (5) was proved in [6].

#### REFERENCES

- [1] C. J. Eliezer, *Problem 5798*, Amer. Math. Monthly 78 (1971), 549.
- [2] J. D. Kečkić and P. M. Vasić, *Some inequalities for the gamma function*, Publ. Inst. Math (Beograd) 11 (25) (1971), 107–114.
- [3] J. Gurland, *An inequality satisfied by the gamma function*, Skand. Aktuarietidskr. 39 (1956), 171–172.
- [4] D. Gonkale, *On an inequality for gamma functions*, Skand. Aktuarietidskr. 1962 (1963), 213–215.
- [5] D. S. Mitrinović, *Analytic Inequalities*, Die Grundlehren der mathematischen Wissenschaften in Einzeldarstellung No 165, Springer-Verlag, Berlin-Heidelberg-New York 1970.
- [6] P. Kesava Menon, *Some inequalities involving the  $\Gamma$ - and  $\zeta$ -functions*, Math. Student 11 (1943), 10–12.